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ECONOMICS
PAPER - III

Note . This paper contains Seventy Five (75) multiple-choice/assertion and reasoning

e D]
Uy-TII

matching questions, each question carrying TWO (2) marks. Attempt All the

questions.

A4 @ 2 el qAlld (9u) siglasedla uadl, WY-wig vl ASsi oAl usdl &,
dHIM el il quididl 9. Mcdls Ul ) () @ 8.

1.

A demand function showing

quantity demanded as function of

price of the commodity, prices of the

related commodities, income of the

household, taste of household

members 1s basically demand

function for :

(A) Final good

(B) Primary good

(C) Primary inputs

(D) Intermediate goods

If factors are paid according to their

marginal productivities, product of

the firm exhausts in distribution,

if :

(A) Production
homogenecus

(B) Production
heterogeneous

(C) Production
homogeneous of degree zero

(D) Production

homogeneous of degree one

function is

function is

function 18

funetion is
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Which one of the following is not
one to contribute to new welfare
economics ?

(A) Vilfredo Pareto

(B) John Hicks

(C) Nicolas Kaldor

(D) Arthur Pigou

In which of the following analysis
the marginal utility of money
income is constant ?

(A) Marshallian

(B) Hicksian

(C) Samuelsonian

(D) Kaldorian

Cobb-Douglas production function
Q = AKJIL?2 has degree of
homogeneity equal to :

(A) 3

(B) 2

(C) 5

D) 0

Eco.—III

Ayl sig, A seuLiesl
sfae i wetd s Aol ?

(A) dladsl WRal

(B) i €lsy

(©) [siau siesiz

@) 2ud2 i3y

QAuniell s [@sdwaui waisly
2uas-l fluia glee »2aa & ?
(A) qaddlux

(B) dlslai

(C) Ayvieu-{lyn

(D) siesiYun

510-59¢11 Beuled [ady
Q = AK3L? -l anulueidi-l
58

(A) 8

(B) 2

(G

D o

8.




When MC curve intersects AC B.

curve, the value of AC is :
{A) Maximum

(B) Minimum

(C) Zero

(D) Infinite

Suppose I, = d (Y, - Y, _ 1), then
d is called :

(A) Consumption coefficient
(B) Investment coefficient
(C) Acceleration coefficient
(D) Saving coefficient

Money supply is autonomously

determined in case of : 8.

(A) Keynesian theory

(B) Classical -theory

(C) IS-LM analysis

(D) Neo-classical theory
Transaction demand for money is
proportional to :

(A) Rate of interest

(B) Income

(C) Money supply

{D) Investment
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10. Aggregate supply curve in

Keynesian theory is :

(A)
(B)
(C)
(D)

Horizontal
Vertical
Downward sloping

Upward sloping

11. Which of the following statements

does not hold true in case of the

Keynesian economics ?

(A)

(B)

(€)

(D)
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Aggregate supply schedule is
vertical and output and
employment are completely
supply determined

Labour is subject to money
illusion

Aggregate supply function
tends to become flat at levels

of output well below full

employment and to become’

steeper when full capacity is
reached

Velocity of money is an
unstable function of its

determinants

10.

11.

orflud Rigladi g4 yasl 45 :

(A) [l wuidr

(B) Q=

(€) 1A ds sudl

M) Guzl ds gndl QURLR

Sfluq vidauatui {lA-midl 8y

Qe a1y el ?

(A) $4 AU YR Qed Jvt B A
Beuled 2 lroul Ayelud
yasl gl RallRd a6

(B) M gl MM ¢ld 8

() yel iwoulYl usi ~1d-u
Gewlestnl AU §a yrasl [y
A o 8w yel e
ygial wdl d 9y gioua q19, o=
8

D) Aaidl 4o, d-dt [Rafsid

«Ru2 [Q8y 8




12.

13.

14.

What constitutes the “High Power

Money” ?

(A) Currency held by the public +
other deposits of RBI

(B) Currency held by the public +
Cash reserves of banks + other
deposits of RBI

(C) Currency held by the public +
Demand and time deposits +
Cash reserves with RBI

(D) Currency held by the public

Golden Age in Rebinson model is

characterised by the conditions of

steady state of growth in :

(A) Meade model

(B) Harrod model

(C) Domar model

(D) Passinetti model

Harrod’s model of growth is

considered :

(A) Classical

(B) Keynesian

(C) Neo-classical

(D) Neo-Keynesian
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15. The Lewis model can be interpreted
as a theory of :

(A) Savings

(B} Consumption

(C) Migration

(D) Trade

16. The two-gap model locks at :

(A) The relation between current
account deficit and saving-
investment gap

(B) The gap between saving and
consumption

(C) The difference in current
account and capital account

(D) The gap between primary
deficit and fiscal deficit

17. Widely held view is that as the level
of education increases, positive gap
between social returns and social
costs, beyond a point :

(A) goes on increasing

(B) goes on diminishing

(C) remains constant

(D) flip-flops in direction of change
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18.

19.

Hicks-neutral technical progress

implies that with technological

change :

(A) Capital-labour ratio declines

(B) Capital-labour ratio increases

(C) Capital-labour ratio remains
the same

(D) None of the above

If supply is perfectly inelastic, then

the short-run imp;act of a specific

sales tax would be to shift the tax

burden :

(A) entirely on to the consumers

(B) entirely on to the producers

(C) equally between the consumers
and the producers

(D) on the other goods where
the supply condition is more

elastic
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20.

21.

22,

By March 2012, India’s external
debt stood at :
(A) $ 345.4 billion

(B) $ 390.2 billion

- {C) § 423.4 billion

(D) $ 453.5 billion

Which of the following taxes is an
exclusive source of state
government revenue ?

(A) Excise duties

(B) Custom duties

(C) Land revenue

(D) Wealth tax

Central assistance for state plan is
a part of :

(A) Plan expenditure

(B) Non-plan expenditure

(C) Revenue expenditure

(D) Both (A) and (C)
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23.

24,

26.

Which of the following is the major
item of the expenditure in the Union
Budget these days ?

(A) Fertilizer Subsidies

(B) Petro-Product Subsidies

(C) Defence Expenditure

(D) Interest Expenditure

The non-plan grants by the Central
Government to the State
Governments in India are made on
the recommendation of ............... .
(A) Ministry of Finance

(B) Finance Commission

(C) RBI

(D) Planning Commission

In the BOP statement, merchan-
dise exports and imports are part
of :

(A) Current Account

(B) Capital Account

(C) Global Transfer Account

(D) National Income Account
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27.

28.

Which of the following organs of
WTO covers the trading in services
at global level ?

(A) GATS

(B) TRIPS

(C) TRIMS

(D) LOGS

When did the IMF introduce
SDR ?

(A) January, 1970

(B) June, 1956

(C) April, 1980

(D) January, 1950

Under which condition will the
equilibrium between full
employment and balance of
payment be achieved in an
optimum currency area ?

(A)
(B)

if exchange rates are flexible
if foreign capital flows into the
country

(C) if labour and capital move
freely

(D) if trade is liberalized
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29. Terms in Group I—different types

of tariffs and duties—are related to

description of the terms in Group II.

Identify the matching combination.

|

(i} Ad-valorem duties

{1

{ii) Double column tariffs(2)

(iZi) Countervailing duties (3)

(iv} Specific duties

@)
A) (I
(B) )
) @
D) (2
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(2)
(4)
(3)
(1)

(4)

(63

n

discrimination of tax rates

for the same commodity

value of commodity as

the base of tax

imposed on imports to

offset subsidy effect

tax to earn revenue from

foreign trade

tax imposed to take care

of cost-price parity
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30. The value of SDR (Special Drawing

31.

32.

Rights) at present is determined in

the international market by :

(A) Price of Gold

(B) Value of US Dellar

(C) The average value of the basket
of a set of convertible currencies

(D} Dollar, Euro and Yen

Small Industries Development Bank

of India was formed in 1990 a fully

owned subsidiary of :

(A) IDBI

(B) ICICI

(C) RBI

(D) NABARD

When inflation is rising, one would

expect RBI to have a monetary

policy which is :

(A) Tight

(B) Easy

(C) Business as usual

(D) None of the above

Eco.-II1
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33.

34.

The following are some of the
components of money supply in
India :

(1) Currency with public

(2) Other deposits with RBI

(3) Demand deposits

(4) Time deposits

Which of the aforesaid items are
included in the concept of ‘Broad
Money” ?

(A) 1, 2 and 3

(B) 2, 3 and 4

(C) 1,2and 4

D) 1, 2, 3 and 4

During 2011-12, net profit as a
percentage of assets of the
banks

commercial was the

maximum for the :

(A) Public sector banks

(B) Foreign banks

(C) Old private sector banks

(D) New private sector banks
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35.

36.

During 2011-12, which of the
following non-banking financial
institutions mobilized maximum
resources ?

(A) EXIM bank

(B) NABARD

(C) National Housing Bank

(D) SIDBI

According to Weber’s theory of
location, the important factors
influencing location are :

(I) Transport cost

(II) Land cost

(II) Labour cost

(IV) Innovation cost
Choose the correct code :
(A) I and II

(B). II and III

(C) I and III

(D) I and IV

Eco.-I11

16

35.

36.

ql 2011-12 e3®u+, Al 56

ir-of sTaL [y Aewsl Hedy
A8l N syl ?

(A) EXIM ois

(B) NABARD

(C) National Housing Bank
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37. Match committees in Group I with
their functional areas in Group II :
|}
(1) Fiscal incentives

|
7} Dutt E.‘!:rmttﬂ-
A

{(£) Pande Committée

for industries

(2) Review of indus-

trial loeation policy

() Wanchoo Committee (3) Industrial licensing

policy

(4) Ydentification of

backward areas

® G G |
A 1 @ 3
(B B @ (1)
C 4 3 @
O 2y 1) @

38. The concepts of “living wages”, “fair
wages” and “minimum wages” were
perceived by :

(A) National Commission of Labour
(B) International Labour

Organization
(C) Ministry of Labour Welfare
(D) National Wages Board
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39.

40.

Who has defined factor productivity
as “the ratio between output and
one of the factors” ?

(A) United Nations Industrial
Development Organization
(UNIDO)

(B) International Labour
Organization (ILO)

(C) Planning Commission of India

(D) Bureau of Industrial Standards

Main objective of creating public

sector enterprises was :

(A) to accelerate growth of core
sectors of the economy

(B) to induce competition in the
market

(C) to break monopoly of private
sector

(D) to control production by the

government
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(A) et i3y dsti-l alg ay
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41.

42.

The act of simultaneous buying a
currency in one market and selling
in another market is called :

(A) Speculation

(B} Spotting

(C) Forwarding

(D) Arbitrage

Global 2008 financial crisis was
created by :

(A) Nationalised Banks

(B} Sub-prime market lending
(C) Bond Market

(D) Interest Rate Mechanism

A Pigouvian tax is associated
with :

(A) Capital transaction tax

(B) Service tax

(C) Income tax

(D) Pollution tax
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42.

43.

5 ool A4 veal wA
o uHA ol el AdRA Al
[BuiA :

A) uzi?l

(B) ¥uidla

(©) sirasla

(D) uo{fey

58 8,

[Q2ani @ 2008 -l (Al séisd] :
(A) AEluga oisi

(B) Ast—HH HiFe—argla

(C) olivs WiFe

D) -t e H{a(lnn

1 513 yAS edl,

Yodla-d s -

(A) 38l Aasiqs 52

(B) Al 52

(C) »uas Qi

(D) MgM@ AR

Al Hoiy g B,
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45.

The dependency ratio is the ratio  44.

of the :
(A) Old to middle-aged population
(B) Young and old population to
working-aged population

(C) Young population to aged-
population

(D)} Young population to middle-

aged population

The Environment Protection Actin 45
India was enacted in :

(A) 1948

(B) 1986

(C) 1999

(D) 2010

The rate of natural increase in the 46.

human population is calculated
by :

(A) CBR + CDR

(B) CBR / CDR

(C) CDR / CBR

(D) CBR - CDR

Eco.-1I1 20

LBl el ed :

(A) 4¢ ¥ waaudl axdlnl
el R

(B) ydirl A qg drdl-l 513 52U
qacdl Al dLlinr

(©) yaurt axdl 2 qeidl axdl-i
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D) Yeurt el i Henauedl ardl-l

dRileR

o oellddl wulae daae 4Rl

(A) 1948

(B) 1986

(C) 1999

(D) 2010

Wi wsadl el
qidaadlul 4dl wiglds qaaiin
g

(A) CBR + CDR
(B) CBR / CDR
(C) CDR / CBR
(D) CBR - CDR
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47. TFR in India is calculated annually

48.

Eco.-II1

through :

(A)
(B)
(C)
(D)

Sample registration system
Census
Data from some states

None of the above

Which of the following technical

conditions is an important part of

the “strong sustainable rule” ?

(A)

(B)

(C)

(D)

The total stock of capital should
not fall over time, though
individual elements within that
stock can vary

Each element within the total
stock of capital should not fall
over time

Any rise in man-made capital
can be regarded as helping to
offset any fall in natural capital
Any rise in social capital can
be regarded as helping to offset

any fall in natural capital

47.

48,
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(A)
(B)
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D)

Ara o ey
Qdl e
s2els UL LSS

Bu-umidl i sl

GlAL Y 0,
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Fonavis [an’’ Al w5 sl

o9 ¢ 7

(A)

(B)

(C)

D)

AHULGAIR yslagl sd e
gedl AL Adl, % 3 d -
Y5 AUFdaud Y25l 3512 A
W
yelazgril §d weuql €35 ues
AHULGAULR Hedl AsH Al
Yidaduadd Holui adl sidyel
QeI uglas e Adl S
ueL geisidl alayldui wee3u
aefl usy
AllFs 3l udl sidua
aqltd, uiglas yslui gal
siSuat geisil syl seesy
AR sy,
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49.

o).

51.

In 2009-10, the percentage of BPL

population in India was :

(A) 345

(B 33.2

(C) 314

(D) 29.8

Market failure is said to occur

when :

(A) Property rights are well defined

(B) There are no externalities

(C) Markets are  perfectly
competitive

(D) None of the above

During the Eleventh Five Year Plan

the targeted annual growth rate for

agﬁculfure was :

(A) 4%

(B) 6%

C) 8%

D) 10%

Eco.-1I1
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ay] 2009-10 Mi, M12dHi BPL axdl-l

25l :

(A) 345

(B) 33.2

C) 314

(D) 29.8

sdl.

oo (Asadl cl uofu ¢ 3
wYI

(A) Mesd-l wssi yeuvadld sid &
(B) ole u sidl el

(C) oAl Yol ss1dysd siu 8
D) Guuniell 518 Al
PRl qaasly yioeuul, sM-u
Alls qle e+l qauis :

(A) 4%

(B) 6%

(C) 8%

(D) 10%
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52. Which one of the following labour 52, euRdMi Wil Rl 28 534

laws seeks to protect the interests w2 Al s 2 SMEl 9sl
of agricultural labour in India ? 8 7

(A) Employees State Insurance |
(A) VRIS 22 $+Y Y W 52,1948

Act, 1948 .
(B) dydd dd« 4l Ns2, 1948
(B) Minimum Wages Act, 1948

C) Andidy widlse s-s g2
(C) Employees Provident Fund Act, (©) Anetisy uidls- ¢ )

1959 1952
(D) Workmen’s Compensation Act, D) 453~ SU-Au Vg2, 1923
1923 53. da¥dy uHdd Gudidl eame
53. The Minimum Support Prices are (A) RBI
recommended by : (B) CAPC
o (C) NABARD
(B) CAPC

D) 2%, iy
(C) NABARD

gLl "y 9,
(D) Planning Commission

54. New Agriculture ' Policy was 54. <<l 4B fladl wie :

(A) yals, 1966

launched in :

(A) July 1966 (B) %S 2000
(B) July 2000 (C) %S, 1970
©) July 1970 D) A, 2008

(D) July 2008 Wi "yl
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55.

566.

In linear programming problem

involving two variables, multiple

optimal solutions are obtained when
one of the constraints is :

(A) the objective function should be
parallel \to a constraint that
forms boundary of the feasible
region

(B) the objective function should be

perpendicular to a constraint

that forms boundary of the
feasible region

(C) neither (A) nor (B)

(D) two constraints should be
parallel to each other

For a monopolist deﬁand function

p = 100 - 29, at what quantity the

marginal revenue is zero ?

(A) O

(B) 25

(C) 50

(D) 100

Eco.-I1I
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56.

oL ARV “RAAAl YUl AR~

WadHi, B 53l A Sheuy Glel

wofl 93 8 3 ol snasini-dl s

L T

(A) Asla ueudl ¥ s e o-ud
© d olmsa, Sdadll QAU AHidR
Sy

(B) gl u2a-dl A5 ge suq-uR

oiasa, egadll [y do (s12vl)

iy

(C) (A) »yal (B) -l

(D) 6 eliasl YWY AMHIdR eldal
NS

Jo2e13L Hiat (A8Y p = 100 - 2g,

sy g2l qi2 Aldid el g

ydl 7

(A) 0

(B) 25

(C) 50

(D) 100




o7.

58.

Lagrangean multiplier is a

technique to obtain :

(A) Constrained maxima

(B) Constrained minima

(C) Constrained maxima and
minima

(D) Unconstrained maxima and
minima

Hawkins-Simon conditions in the

input-output analysis ensure

that :

(A) Final demands are all positive

(B) Industrial demands are all

positive

(C) Industrial demands do exceed

the respective total output

{D) Industrial demands do not

exceed the respective total

outputs in all industries

Eco.—II1
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68.

AlAUL-DYA ORls gl :

(A) 2dl Hedu

(B) Adl ~ynidu

(©) udl HgdH AA Yrdu

D) Brinudl Hedd A YedH

Budi Aqcadl s wgla 6.

Al8A-Gewlen [Qrdvanl sisl-u-04n

adl 3 dicell wix{l 2 B %

(A) d¥id »fd Hidl ud 8

(B) i »elBis Hiall ad 8

(©) »aiBis Hion, deidld g4
Beweqdl ay &

@) »leilis ol dxm Gelols

Aol g4 Gowedidl 4y Al
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59.

60.

61.

One of the following was not
associated with the development of
linear programming :

(A) George B. Dentzig

(B) Leonid Kantarovich

(C) Simplex

(D) John Von Neuman
Coefficients of a multiple linear
regression model are checked for
significance against the alternative
hypothesis that they are :

(A) not zero

(B) not one

(C) not fixed

(D) not arbitrary

Glejser’s test is used to test the
presence of which of the following
problems ?

(A) Multicollinearity

(B) Autocorrelation

(C) Heteroscedasticity

(D) Error in variables

Eco.—III
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89.

60.

61.

AAiell sta 3w vl [R5y

A8 Aoy yuag «dl ?
(A) wdlE ofl. S-2ofla

B) dlaidls si-aridla

(C) dl»ay

(D) %l it YHid

opgadla YA Rudeiy HiSd-
Aedasl addl wedsar w2, Asleus
WRseuqudl Rygul dwaaHl »ud
§ %% w9 X dul :

(A) gy el

(B) s «dll

(C) wum ¢

(D) WRess il

@qur vlaw-l Guaia, (A-unidl
s4L Wl w1yl dwal e uy
8 7

(A) oglauumIval

(B) wAsHNY

(©) [AvH Razw

(D) AARUHL eln




62.

63.

64.

65.

Which one of the following is a

remedial method to be used in the

presence of autocorrelation ?

(A) Durbin’s two-stage method

{B) Weighted least squares

(C) Pooling of data

(D) Koyck model

Y, = Bg + B X; + BY, 1 + U, is an

example of :

(A) a distributed lag model

(B) partial adjusted model

(C) an autoregressive model

(D) adaptive expectation model

Relative price stability in the

oligopoly is explained by :

(A) Theory of Sales Maximisation

(B) Theory of Limit Pricing

(C) Theory of Kinked Demand
Curve

(D) Theory of Fuil Cost Pricing

Which of the following assumptions

is relevant for the marginal

productivity theory by J. B. Clark ?

(A) Demand for labour is constant

(B) Supply of labour is constant

(C) Both (A) and (B) are relevant

(D) Neither (A) nor (B) is relevant

Eco.—III
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aldl v uglaAdl Gudidl dy
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(A) slold-l [B-desst ugla

B) olRd y«du adt ugla

(C) disSivlid »s{lsa

D) slus sy

Y, = Bo + BiX, + Bo¥,y + U, ¥
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(A [Qdld [Qda Hisa

(B) #ilis Andio Hisd

(C) |Mudsifd Hisd

D) uqga-lla w8 Hisa

+4 Gelsrst O,

Meusds Sl A& Fua

Rezel :

(A) du wsuHlswnl Rigid

B) {u Bud Rale-u Reid

(C) v Hid-l sl Rigid

M) yol v Bud [Ralaqa Reid

as vl wsid 9,

% .ofl. setél Anid Geutesdinl Rigia

Y lAAidfl 55wk uagd ¢ 7

A) -l sl Rar o

(B) M- yrasi R &

(C) (A) ¥ (B) ¢id Mgd &

@) (A) 5 (B) 818 e el
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66. Match different approaches of 6. o2 1L 2L, Mt Rl [Alas
demand theory given in Group I AR, %2 IT M 2l du-l
Zeals WL A iy Jd sl

%8 1 of® 11

with their some aspect listed in

Group 1I :
@ sMYAS AMMAH @ AlssAardl
Group I Group II
UHLAdL
(z) Ordinal approach (1) Certainty Equiva- .
@) QURAUYAS @ Gt vl

lence

[

() Cardinal approach (2) Product Ray
@nRudts AR - @ AMgld as

(iif) Attributes approach (3)  Indifference Curve

wifaon

() Game theoretic () Margnal utility ;) oy g[qe) @ uRti-l Aluid
approach of money constant w4 dfede Ruz

@) @) i) @) @ @) G @)

A QO @ @ & a1 @ @ @

B @ QO @ @ B @ @O & @

€)@ @O @ Q@ ) @2 M @ @

D @ @ @ @ m @ @ @ (@

67. According to the theory, the forward 67. Riaid wwal, §lRds 2l WY

_ Guyld| :
rate is commonly used for :

. (A) S99t
(A) Hedging
(B) Mmadl daseas
(B) Immediate transactions
(C) Masia-dl dqaseqs

{C) Previous transactions N
(D) oii~sl Aaseas

(D) Bond transactions HIE Y £,
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68. The “J curve” effect describes :
(A) The continuous long-term
inverse relationship between a
country’s current account

balance and country’s growth

in gross national product

(B) The short-run tendency for a
country’s balance of trade to

deteriorate even while its

currency is depreciating

(C) The tendency for exporters to
initially reduce the price of

goods when their own currency

appreciates

(D) The reaction of a country’s °

currency initially depreciate

after the country’s inflation rate

declines

69. Which of the following would likely

to have the least direct influence on

a country’s current account ?
(A) Inflation
(B) National Income

(C) Exchange Rate

(Dj A tax on income earned from

foreign stocks

Eco.-I11

29

68.

69.

“J as” «{l AR :

(A) 22l Agoildl [Has w1 d-l g4
Y Bewtenll 9 22Anl Add
At —UNUAL M Aeig

(B) Ul A-l yandl Buani nasl
gdl sla culd ye ea-dl e
dél dY WRUeL Ydinil 25t Ao
aesl

(€) Futl dax-l yvidiie aa-l
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WL ARgdicl (Bud seisdid
FsiasiRig aadsl

(D) B4l S3UAl-L &ML H2ISL Ul
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agl+ 53 .
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Yeidd Al vuz qaidl wsydl

S 7

(A) goudl

(B) ndlu 2094

© [y &R

D) vzl @isuidl wtd 2Ad) 20as

y 43
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70. What is Land Ceiling ?

71.

72.

(A) To fix rural landholdings at the
existing level

(B) To fix land area for irrigation
purpose

() To fix urban land holdings at
the existing level

(D) To fix the quantum of land held
by a family

National Agricultural Insurance

Scheme came in operation in India

since

(A) Rabi Season 1999-2000

(B) Kharif Season 1998-1999

(C) Rabi Season 2000-2001

(D) Kharif Season 2000-2001

Cropping intensity is :

Gross Cropped Area o
Net Sown Area

100

(A)

Net Sown Area
B) Gross Cropped Area

x 100

Net Cropped Area i

100
(©) Gross Sown Area

Gross Cropped Area 100
D) " Gross Sown Area

Eco.-I1I1
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73.

74.

75.

Gross domestic capital formation is

defined as :

(A) Flow of expenditure devoted to
increase in or maintaining of
the capital stock

(B) Expenditure incurred on
physical assets only

(C) Total production exceeding
total demand

(D)} Net addition to stock after
depreciation

Revenue of the State Governments

are raised from the following

sources, except :

(A) Entertainment tax

(B) Tax on lotteries

(C) Agricuitural income tax

(D) Land revenue

Which of the following is the

flagship programme of the

Government for poverty eradication

and employment generation ?

(A) MGNREGA

(B) NRLM

(C) SJSRY

(D) AABY
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73. 54 43y HSlAAAAl oy

74.

75.

(A) Y8l argii-il weaMi a4l s34l
Hi2 YAl dA Aadl mal 12
54l uSdL Wl Mais

(B) 55d ofllds AsUMAL U AUdl
v

(C) &4 M 534l 54 Gedledl QR

(D) #AL el @USHL udl Alvll
LR

AUFY AL vds, s

wlidimiell i sl 21 8, Ry

3

(A) HNIF- AR

(B) @l2?] yz-l 52

(C) s 2uas Az

(D) ¥4l Héyd

36l oigl U AU AFH R

A5l Al vorcunl s1dsu,

AAnnidl sul o ?

(A) MGNREGA

(B) NRLM

(C) SJSRY

(D) AABY
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ROUGH WORK
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